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H 98 A7|. KGCAMZ AL vs HCHAM (T, 2019.12.15, 16:00~18:02)
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B RATION

H| 98 A7|. KGCQU&B AL vs HLCHAH

A (CHH, 2019.12.15, 16:00~18:02)

KGCQI & Al 'S i fale!
57 No Block 37
2574 /7170 1 Block 337H / oM
10271 / 774 2 Block 9971 / 97H
770 7 oM 3 Block 570 /7 07M
* 227 o8 ¥ AR R/ HE S
> SE ME HE Al 40 E27{0] G2 3475 Ha
KGCRlYSA 34 VS S| AN 27
370 7 17H(33.3%) No Block 170 / 07H(00.0%)
2571 / 127H(48.0%) 1 Block 1970 7 1270(63.2%)
847N / 377H(44.0%) 2 Block 867l / 437(50.0%)
474 / 37H(75.0%) 3 Block 671 / 47(66.7%)
*BHANE /83 (43 8)

2019-12-15 18:10

RE A= %3 AlZHAL ol& =2
MBS 13(25.0%) 6(11.5%) 1(01.9%) 0(00.0%) 3(05.8%) 29(55.8%)
MEZ2| 48(75.0%) 5(07.8%) 5(07.8%) 5(07.8%) 0(00.0%) 1(01.6%)

oA 61(52.6%) 11(09.5%) 6(05.2%) 5(04.3%) 3(02.6%) 30(25.9%)
*BANE (BHEEYR)
> SIhHAA
RE A= %3 AlZHAL ol =2
MIET 2| 17(34.0%) 9(18.0%) 8(16.0%) 1(02.0%) 0(00.0%) 15(30.0%)
MEZ2| 42(67.7%) 9(14.5%) 11(17.7%) 0(00.0%) 0(00.0%) 0(00.0%)
oA 59(52.7%) 18(16.1%) 19(17.0%) 1(00.9%) 0(00.0%) 15(13.4%)
*BANE (BHEEYR)

2/3



ZJ| T 9o

T o=

|3 Rel0

Hl 98 ZE7|. KGCALZ A vs WCHZAE (CHT, 2019.12.15, 16:00~18:02)
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= ME e

o 2y &3 s b 87l | SHME HHE sus s3 =K sas A%
1 dnAd 30 11 3 14 35 21 1.667 1,246 1,200 1.038 45
2 GSZHA 28 9 5 14 33 21 1571 1,255 1153 1.088 11
3 a4y 27 8 6 14 33 24 1.375 1,292 1,168 1.106 25
4 St 2T A 16 5 9 14 23 32 0.719 1,187 1,268 0.936 11
5 KGCRI&tS A 13 5 9 14 26 37 0.703 1,307 1,390 0.940 AL
6 IBK7| 28 12 4 10 14 22 37 0.595 1,205 1,313 0918 15
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